Unit: Linear Equations
Solve and Color - A

Name

Dafe

SIMPLIFYING EXPRESSIONS SOLVE AND COLOR

Simplify each expression. Then, find the answer and color each area on the coloring page with the problem
number the corresponding color.

I 2 3 y
-5x + 8-3x-8 -Ix + 12 =10 + x 13+ 12x —4x =14 -38 + 18 + 10x + 10x
5 6 7 8
105 1 q1 g 3 1 4 _3 68 + 2 8 3 17 19
X — 1+ 95X - 3 XX+ 5X = + 2X + 5+ - =X —
9 10 Il 12

-7 =12x + 19+ 7.7x

5.75x =2 =2.75x + 27

- /5x + .25x =3 -3

-9+ 1.8x + 6 - .3x

13 M 5 16
%x+7+3lx—11 4§x—12+5§1x—18 8 4+ 1.82% — 12 + 1.18x —3+x—%x+3
LIGHT DARK
RED YELLOW PINK BLUE CREEN ORANGE CREEN PURPLE
3x =20 3x + 25 20x =10 8x =1 -8X 1.5x =3 20x =20 -8X + 2
_5x -6 gx 10x — 25 %x—eo 6.5x + 12 %X_AL 2lx_2 ng
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Unit: Linear Equations

Name
Solve and Color - B

Dafe

SIMPLIFYING EXPRESSIONS SOLVE AND COLOR

Simplify each expression. Then, find the answer and color each area on the coloring page with the problem
number the corresponding color.

Pd

I 2 3 9
-4(2x -2) -8 5-3(4x + 1) + 4x 7 4+ 2(9x = 4) = 10x 5(-3 + 4x) =5
) 6 7 8
2(04x - 18) + 5 - (X =)+ x 2x —2(2x + 80) - 2(8 = 3x) - 2x
q 10 l 12
2.5(8 +3x)=x =8 | -2x + 1.25(4x + 20) -.3(20 + 5x) + x 6(3x = 5) = .3x
13 M : 5 16
ql(2x—36)+3lx —5(15—%<)—5x 8 + .75(4x - 16) 3+qi(5x—27)
LIGHT DARK
RED YELLOW PINK BLUE CREEN ORANGE CREEN PURPLE
3x =20 3x + 25 20x =10 8x =1 -8X 1.5x =3 20x =20 -8X + 2
_5x -6 gx 10x — 25 %x—eo 6.5x + 12 %X_AL 2lx_2 ng
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Unit: Linear Equations Name
Solve and Color Date Pd

SIMPLIFYING EXPRESSIONS SOLVE AND COLOR

Simplify each expression. Then, find the answer and color each area on the coloring page with the problem
number the corresponding color.




Unif: Linear Equations
Solve and Color - A

Name Answer Key

Date

Pd

SIMPLIFYING EXPRESSIONS SOLVE AND COLOR

Simplify each expression. Then, find the answer and color each area on the coloring page with the problem
number the corresponding color.

I 2 3 y
-5x + 8 -3x -8 -9x + 12 =10 + x 13+ 12x —4x — 14 -38 + 18 + 10x + 10x
~-8x% -8x + 2 8x — 1 20x — 20

5 6 7 8

1O%x—1+q6ix—q —8+x—31><+4 —%x—68+2><+8 ?Tx+17—z1x—1q
2 1 T

20x — 10 5)(-{-1 EX—6O EX—Z

9 10 Il 12

-7 = 12X+ 194+ 7.7x

575x =2 =2.75x + 27

-./5X + .25x -3 -3

-9 + 1.8x + 6 - .3x

6.5x + 12 3X + 25 -.5x -6 1.5x — 3
13 M 5 (3
2 1 2 1 4
qx+7+§x—11 4§x—12+5§x—18 8+ 1.82% — 12 + 1.18x —3+x—q><+3
) 5
gk —4 10x — 25 3x — 20 gx
LIGHT DARK
RED YELLOW PINK BLUE GREEN ORANGE GREEN PURPLE
#15 #10 #5 #3 #1 #12 #4 #2
#11 #16 #14 #7 #9 #13 #8 #6
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Unit: Linear Equations
Solve and Color - B

Name Answer Key

Dafe

Pd

SIMPLIFYING EXPRESSIONS SOLVE AND COLOR

Simplify each expression. Then, find the answer and color each area on the coloring page with the problem
number the corresponding color.

I 2 3 q
~4(2x —2) -8 5-3(4x+ ) +4x | 7+ 2(9% —4) - 10x 5(-83 + 4x) -5
-8X -8X + 2 8X — 1 20x =20
) 6 7 8
2(04x - 18) + 5 - (X =)+ x 2x —2(2x + 80) - 2(8 = 3x) - 2x
2 [ 1
250x — 10 §x+1 5><—6O EX—Z
9 10 Il 12
2.5(8 +3x)=x =8 | -2x + 1.25(4x + 20) -.3(20 + 5x) + x 6(3x = 5) —.3x
6.5x + 12 38X + 25 -.5Xx -6 1.5x =3
13 3 : 15 l6
ql(2x—36)+§1x —5(15—%<)—5x 8 + .75(4x - 16) 3+qi(5x—27)
5 _., 5
gk~ 10x =25 3x — 20 gX
LIGHT DARK
RED YELLOW PINK BLUE CREEN ORANGE GREEN PURPLE
#15 #10 #5 #3 #1 #12 #4 #2
#11 #16 #14 #7 #9 #13 #8 #6
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